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SMART TEACHERS ASSOCIATION & WAY TO SUCCESS GROUPS  
SSLC MODEL PUBLIC EXAMINATION – 2023-2024 

fzpjk; / MATHEMATICS 
 

fhy msT : 15 epkplk; + 3 kzp 
Time Allowed : 15 mins + 3 hrs 

                               nkhj;j kjpg;ngz;fs; : 100                                     

                                       Maximum Marks : 100 
mwpTiufs;:  
(1) midj;J tpdhf;fSk; rupahf  mr;Rg;gjpthfp 
cs;sjh vd;gjid rupghHj;Jf; nfhs;sTk;. 
mr;Rg;gjptpy; FiwapUg;gpd;> miwf;fz;fhzpg;ghsuplk; 
cldbahf njhptpf;fTk;. 

(2)  ePyk; my;yJ fUg;G ikapid kl;LNk vOJtjw;Fk; 
mbf;NfhbLtjw;Fk; gad;gLj;j Ntz;Lk;. glq;fs; 
tiutjw;F ngd;rpy; gad;gLj;jTk;. 

Fwpg;G: ,t;tpdhj;jhs; ehd;F gFjpfis nfhz;lJ. 

Instructions:   

(1) Check the question paper for fairness of printing. 

If there is any lack of fairness, inform the Hall 

Supervisor immediately. 

(2) Use Blue or Black ink to write and underline, 

pencil to draw diagrams. 
Note: This question paper contains four parts. 

 

                                                                     gFjp – I / PART – I                                              𝟏𝟒 × 𝟏 = 𝟏𝟒    

Fwpg;G: (i) midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. (ii) nfhLf;fg;gl;Ls;s ehd;F khw;W tpilfspy; kpfTk; 
Vw;Gila tpilapid Njh;e;njLj;Jf; FwpaPl;Lld; tpilapidAk; Nrh;j;J vOjTk;. 

Note : (i) Answer all the questions. (ii) Choose the most appropriate answer from the given four  alternatives and 

write the option code with the corresponding answer. 

1.    (𝑎 + 2,4) kw;Wk; (5, 2𝑎 + 𝑏) Mfpa tupirr; Nrhbfs; rkk; vdpy;> (𝑎, 𝑏) vd;gJ  
(m) (2, −2)   (M) (5,1)  (,) (2,3)  (<) (3, −2) 

If the ordered pairs (𝑎 + 2,4) and (5, 2𝑎 + 𝑏) are equal then (𝑎, 𝑏) is 

(A) (2, −2)   (B) (5,1)  (C) (2,3)  (D) (3, −2) 

2.   𝑓(𝑥)  =  (−1)𝑥  vd;gJ ℕ-ypUe;J ℤ-f;F tiuaWf;fg;gl;Ls;sJ. vdpy; f-d; tPr;rfk; 
   (m) [1]   (M) ℕ    (,) {1, −1}    (<) ℤ 

    Given 𝑓(𝑥)  =  (−1)𝑥  is a function from ℕ to ℤ . Then the range of f   is   

   (A) [1]   (B) ℕ    (C) {1, −1}   (D) ℤ 

3.    xU $l;Lj; njhlu;tupirapd; Kjy; cWg;G 1 kw;Wk; nghJ tpj;jpahrk; 4 vdpy;> gpd;tUk; vz;fspy; 
vJ ,e;jf; $l;Lj; njhlu;tupirapy; mikAk;? 

  (m) 7881    (M) 10091   (,) 4551  (<) 13531  

The first term of an arithmetic progression is unity and the common difference is 4. Which of the 
following will be a term of this A.P. 

(A) 7881    (B) 10091   (C) 4551  (D) 13531 

4.  1729-I gfhf; fhuzpg;gLj;Jk; NghJ> me;jg; gfh vz;fspd; mLf;Ffspd; $Ljy;  

(m) 1    (M) 2    (,) 4                 (<) 3 

The sum of the exponents of the prime factors in the prime factorization of 1729 is 

(A) 1    (B) 2    (C) 4   (D) 3 

5.  𝑥 + 𝑦 − 3𝑧 = −6,        − 7𝑦 + 7𝑧 = 7,       3𝑧 = 9 vd;w njhFg;gpd; jPu;T  

(m) 𝑥 = −1, 𝑦 = 2, 𝑧 = 3   (M) 𝑥 = 1, 𝑦 = 2, 𝑧 = 3   (,) 𝑥 = −1, 𝑦 = −2, 𝑧 = 3   (<) 𝑥 = 1, 𝑦 = −2, 𝑧 = 3 

The solution of the system  𝑥 + 𝑦 − 3𝑧 = −6,       − 7𝑦 + 7𝑧 = 7,          3𝑧 = 9 is  

(A) 𝑥 = −1, 𝑦 = 2, 𝑧 = 3    (B) 𝑥 = 1, 𝑦 = 2, 𝑧 = 3      (C) 𝑥 = −1, 𝑦 = −2, 𝑧 = 3    (D) 𝑥 = 1, 𝑦 = −2, 𝑧 = 3 

6.    
𝑥2−25

𝑥+3
  vd;gij  

𝑥+5

𝑥2−9
 -My; tFf;Fk;NghJ fpilg;gJ  

(m) (𝑥 − 5)(𝑥 − 3) (M) (𝑥 − 5)(𝑥 + 3) (,) (𝑥 + 5)(𝑥 − 3) (<) (𝑥 + 5)(𝑥 + 3)  

On dividing 
𝑥2−25

𝑥+3
  by  

𝑥+5

𝑥2−9
 

(A) (𝑥 − 5)(𝑥 − 3)  (B) (𝑥 − 5)(𝑥 + 3) (C) (𝑥 + 5)(𝑥 − 3) (D) (𝑥 + 5)(𝑥 + 3) 

7.    (0,0), (1,0) kw;Wk; (0,1) vd;w Gs;spfis Kidfshff; nfhz;l Kf;Nfhzj;jpd; Rw;wsT                

(m) √2     (M) 2    (,) 2 + √2    (<) 2 − √2 

The perimeter of a triangle formed by the points (0,0), (1,0) and (0,1) is                   

(A) √2     (B) 2    (C) 2 + √2    (D) 2 − √2   
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8.  glj;jpy; cs;sthW 𝑂-it ikakhff; nfhz;l tl;lj;jpd; njhLNfhL 𝑃𝑅 vdpy;> ∠𝑃𝑂𝑄 =  

(m) 90°   (M) 100°   (,) 110°          (<) 120°  

  In figure if 𝑃𝑅 is tangent to the circle at 𝑃 and 𝑂 is the centre, then ∠𝑃𝑂𝑄 is  

 (A) 90°   (B) 100°  (C) 110°           (D) 120° 

9.    xU Rtupd; mUNf ele;J nrd;W nfhz;bUf;Fk; xU egUf;Fk; RtUf;Fk; ,ilNa cs;s J}uk; 
10 myFfs;. Rtiu 𝑌-mr;rhf fUjpdhy;> me;j egu; nry;Yk; ghij vd;gJ   

  (m) 𝑦 = 10         (M) 𝑥 = 10          (,) 𝑥 = 0           (<) 𝑦 = 10 

A man walks near a wall, such that the distance between him and the wall is 10 units. Consider the wall 
to be the 𝑌 axis. The path travelled by the man is  

(A) 𝑦 = 10         (B) 𝑥 = 10          (C) 𝑥 = 0           (D) 𝑦 = 10 

10. 𝑥 = 𝑎 tan 𝜃 kw;Wk; 𝑦 = 𝑏 𝑠𝑒𝑐𝜃 vdpy;   

 (m) 
𝑦2

𝑏2 −
𝑥2

𝑎2 = 1      (M) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 1     (,) 
𝑥2

𝑎2 +
𝑦2

𝑏2 = 1    (<) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 0 

If 𝑥 = 𝑎 tan 𝜃  and 𝑦 = 𝑏 sec 𝜃 then  

  (A) 
𝑦2

𝑏2 −
𝑥2

𝑎2 = 1      (B) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 1     (C) 
𝑥2

𝑎2 +
𝑦2

𝑏2 = 1    (D) 
𝑥2

𝑎2 −
𝑦2

𝑏2 = 0 

11. 
sin(900−𝜃) sin 𝜃

tan 𝜃
+

cos(900−𝜃) cos 𝜃

cot 𝜃
= ____.      (m) tan 𝜃             (M) 1                  (,)  −1           (<) sin 𝜃 

       
sin(900−𝜃) sin 𝜃

tan 𝜃
+

cos(900−𝜃) cos 𝜃

cot 𝜃
= ____.     (A) tan 𝜃              (B) 1              (C) −1             (D) sin 𝜃 

12. rkkhd tpl;lk; & cauk; cila Xu; cUis> xU $k;G & xU Nfhsj;jpd; fd msTfspd; tpfpjk;  

 (m) 1: 2: 3   (M) 2: 1: 3  (,) 3: 1: 2  (<) 1: 3: 2 

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter & same height is  

 (A) 1: 2: 3   (B) 2: 1: 3  (C) 3: 1: 2  (D) 1: 3: 2 

13.  24  nr.kP cauKk;> 6 nr.kP MuKk; cila fspkz;zhy; nra;ag;gl;l xU $k;gpid xU rpWkp 
Nfhskhf khw;wpdhy;> Nfhsj;jpd; Muk; 
(m) 6 nr.kP   (M) 12 nr.kP   (,) 24 nr.kP  (<) 48 nr.kP 

A child reshapes a cone made up of clay of height 24 𝑐𝑚 & radius 6 𝑐𝑚 into a sphere, then the radius of sphere is    

(A) 6 𝑐𝑚   (B) 12 𝑐𝑚   (C) 24 𝑐𝑚  (D) 48 𝑐𝑚   

14. nfhLf;fg;gl;litfspy; vJ jtwhdJ?    

(m) 𝑃(𝐴) + 𝑃(𝐴̅) = 1        (M) 0 ≤ 𝑃(𝐴) ≤ 1 (,) 𝑃(∅) = 0            (<) 𝑃(𝐴) > 1 

Which of the following is incorrect?    

(A) 𝑃(𝐴) + 𝑃(𝐴̅) = 1       (B) 0 ≤ 𝑃(𝐴) ≤ 1 (C) 𝑃(∅) = 0             (D) 𝑃(𝐴) > 1 
 

                                                                       gFjp – II / PART – II                                                 𝟏𝟎 × 𝟐 = 𝟐𝟎    
Fwpg;G : vitNaDk; 10 tpdhf;fSf;F tpilaspf;fTk;. tpdh vz; 28 -f;F fl;lhakhf tpilaspf;fTk;. 
Note : Answer any 10 questions. Question No. 28 is compulsory. 
15. 𝐴 = {1,2,3} kw;Wk; 𝐵 = {𝑥|𝑥  vd;gJ 10-I tplr; rpwpa gfh vz;} vdpy;>  𝐴 × 𝐵 kw;Wk; 𝐵 × 𝐴-If; fhz;f. 

Let 𝐴 = {1,2,3} and 𝐵 = {𝑥|𝑥 is a prime number less than 10}. Find 𝐴 × 𝐵 and 𝐵 × 𝐴.   

16. 𝑓(𝑥) = √1 + √1 − √1 − 𝑥2  vd;w rhu;gpd; kjpg;gfj;ijf; fhz;f. 

Find the domain of the function  𝑓(𝑥) = √1 + √1 − √1 − 𝑥2  

17. 13 + 23 + 33 + ⋯ vd;w njhlupd; vj;jid cWg;Gfisf; $l;bdhy; $Ljy; 14400 fpilf;Fk;? 
How many terms of the series   13 + 23 + 33 + ⋯ should be taken to get the sum 14400?   

18. 𝐴 = [
7 8 6
1 3 9

−4 3 −1
] ,   𝐵 = [

4 11 −3
−1 2 4
7 5 0

] vdpy;> 2𝐴 + 𝐵-If; fhz;f. 

 If 𝐴 = [
7 8 6
1 3 9

−4 3 −1
] ,   𝐵 = [

4 11 −3
−1 2 4
7 5 0

] then Find 2𝐴 + 𝐵.    



 WTS & SMARTA - SSLC Model Public Exam 2023-2024 - Mathematics | Page - 3 

  

19. tu;f;f%yk; fhz;f. 
121(𝑎+𝑏)8(𝑥+𝑦)8(𝑏−𝑐)8

81(𝑏−𝑐)4(𝑎−𝑏)12(𝑏−𝑐)4                      

 Find the square root of  
121(𝑎+𝑏)8(𝑥+𝑦)8(𝑏−𝑐)8

81(𝑏−𝑐)4(𝑎−𝑏)12(𝑏−𝑐)4 

20. glj;jpy;> ∠𝐴-apd; ,Urkntl;b 𝐴𝐷 MFk;.𝐵𝐷 = 4 nr.kP, 𝐷𝐶 = 3 nr.kP kw;Wk;  
𝐴𝐵 = 6 nr.kP vdpy;> 𝐴𝐶-iaf; fhz;f? 
In the Figure,  𝐴𝐷 is the bisector of ∠𝐴. If 𝐵𝐷 = 4𝑐𝑚, 𝐷𝐶 = 3𝑐𝑚 & 𝐴𝐵 = 6𝑐𝑚, find 𝐴𝐶.                                              

21. gpjhfu]; (ngsjahdh) Njw;wj;ij vOJf.   State Pythagoras (Baudhayana) Theorem.       
22. 𝑃(−1.5, 3), 𝑄(6, −2), kw;Wk; 𝑅(−3, 4) Mfpa Gs;spfs; xNu Neu;f;Nfhl;by; mikAk; vdf; fhl;Lf. 

Show that the points 𝑃(−1.5, 3), 𝑄(6, −2), 𝑅(−3, 4) are collinear. 

23. 𝑥 − √3𝑦 = 16 vd;w Neh;f;Nfhl;bw;Fr; nrq;Fj;jhdJk; (√3, 3) vd;w Gs;sp topr; nry;tJkhd  
   Neh;f;Nfhl;bd; rkd;ghl;ilf; fhz;f.  

Find the equation of a straight-line perpendicular to the line 𝑥 − √3𝑦 = 16 & passing through the point (√3, 3). 

24. √
1+sin 𝜃

1−sin 𝜃
= sec 𝜃 + tan 𝜃  vd epWTf.    Prove:   √

1+sin 𝜃

1−sin 𝜃
= sec 𝜃 + tan 𝜃       

25. 20 kP cauKs;s fl;llj;jpd; cr;rpapy; xU tpisahl;L tPuu; mku;e;Jnfhz;L jiuapYs;s xU ge;ij 60° 
,wf;ff;Nfhzj;jpy; fhz;fpwhu; vdpy;> fl;ll mbg;gFjpf;Fk; ge;jpw;Fk; ,ilNaAs;s njhiyitf; fhz;f. 
A player sitting on the top of a tower of height 20 𝑚 observes the angle of depression of a ball     

    lying on the ground as 60°. Find the distance between the foot of the tower and the ball. (√3 = 1.732) 

26. rk Muq;fs; nfhz;l ,U $k;Gfspd; fd msTfs; 3600 f.nr.kP kw;Wk; 5040 f.nr.kP vdpy;> 
cauq;fspd; tpfpjk; fhz;f. 
The volumes of two cones of same base radius are 3600 𝑐𝑚3 and 5040 𝑐𝑚3. Find the ratio of heights.   

27. xU jutpd; ruhrup kw;Wk; khWghl;Lf; nfO KiwNa 15 kw;Wk; 48 vdpy; mjd; jpl;l tpyf;fj;ijf; fhz;f. 
If mean and coefficient of variation of a data are 15 and 48 respectively, then find its standard deviation. 

28. xU njhlh; thpirapd; nghJ cWg;G 𝑎𝑛 = {
𝑛2;  𝑛-xw;iw vz;

𝑛2

2
;  𝑛-,ul;il vz;

  vdpy; 3-tJ  &  4 –tJ cWg;Gfisf; fhz;f. 

Find the 3rd and 4th terms of a sequence, if 𝑎𝑛 = {
𝑛2 ,   if 𝑛 is odd 
𝑛2

2
   , if 𝑛 is even

        

       

                                                                   gFjp – III / PART – III                                                    𝟏𝟎 × 𝟓 = 𝟓𝟎    

Fwpg;G : vitNaDk; 10 tpdhf;fSf;F tpilaspf;fTk;. tpdh vz; 42 -f;F fl;lhakhf tpilaspf;fTk;. 
Note : Answer any 10 questions. Question No. 42 is compulsory. 
29. 𝑓: ℝ → ℝ  kw;Wk; 𝑔: ℝ → ℝ MdJ KiwNa>  𝑓(𝑥) = 𝑥5, 𝑔(𝑥) = 𝑥4  vd tiuaWf;fg;gl;lhy;> 𝑓, 𝑔 

Mfpait xd;Wf;F xd;whdjh kw;Wk; 𝑓 ∘ 𝑔 xd;Wf;F xd;whd rhu;ghFkh vd;W Muha;f. 
If 𝑓: ℝ → ℝ   and 𝑔: ℝ → ℝ  are defined by 𝑓(𝑥) = 𝑥5 and 𝑔(𝑥) = 𝑥4 then check if 𝑓, 𝑔 are one-one and   

       𝑓 ∘ 𝑔 is one-one?   

30. 7 + 77 + 777 + ⋯ vd;w njhlu;tupirapd; Kjy; 𝑛 cWg;Gfspd; $Ljy; fhz;f. 
Find the sum to n terms of the series 7 + 77 + 777 + ⋯ to 𝑛 terms 

31. 𝑎, 𝑏, 𝑐  vd;gd xU $l;Lj; njhlu;tupirapy; cs;s %d;W mLj;jLj;j cWg;Gfs; kw;Wk; 𝑥, 𝑦, 𝑧 vd;gd 
xU ngUf;F njhlu;tupirapd; %d;W mLj;jLj;j cWg;Gfs; vdpy;  𝑥𝑏−𝑐 × 𝑦𝑐−𝑎 × 𝑧𝑎−𝑏 = 1 vd epWTf. 
If 𝑎, 𝑏, 𝑐 are three consecutive terms of an A.P and 𝑥, 𝑦, 𝑧 are three consecutive terms of a G.P then prove 

that 𝑥𝑏−𝑐 × 𝑦𝑐−𝑎 × 𝑧𝑎−𝑏 = 1 

32. 9𝑥4 + 12𝑥3 + 28𝑥2 + 𝑎𝑥 + 𝑏 MdJ xU tu;f;f%yk; vdpy;> 𝑎, 𝑏 Mfpatw;wpd; kjpg;Gfisf; fhz;f 

If 9𝑥4 + 12𝑥3 + 28𝑥2 + 𝑎𝑥 + 𝑏 is a perfect square, find the values of 𝑎 and 𝑏.   

33. 𝐴 = [
5 2 9
1 2 8

] , 𝐵 = [
1 7
1 2
5 −1

] vdpy;> (𝐴𝐵)𝑇 = 𝐵𝑇𝐴𝑇 vd;gijr; rupghu;f;fTk;. 

If 𝐴 = [
5 2 9
1 2 8

] , 𝐵 = [
1 7
1 2
5 −1

] verify that (𝐴𝐵)𝑇 = 𝐵𝑇𝐴𝑇 

34. xU Kf;Nfhzj;jpd; eLf;NfhLfs; xU Gs;sp topr; nry;Yk; vdf; fhl;Lf. 
Show that in a triangle, the medians are concurrent. 

35. Njy;]; Njw;wj;ij vOjp ep&gp.    State and Prove Thales Theorem.                                      
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36. (−3, 8) vd;w Gs;sp top nry;tJk;> Ma mr;Rfspd; kpif ntl;Lj;Jz;Lfspd; $Ljy; 7 cilaJkhd 
Neu;f;Nfhl;bd; rkd;ghl;ilf; fhz;f. 

A line makes positive intercepts on coordinate axes whose sum is 7 & it passes through (−3, 8). Find its equation.        

37. 𝐴(−4, −2), 𝐵(5, −1), 𝐶(6, 5) kw;Wk; 𝐷(−7, 6) Mfpatw;iw Kidg; Gs;spfshff; nfhz;l ehw;fuj;jpd; 
gf;fq;fspd; eLg;Gs;spfs; Xu; ,izfuj;ij mikf;Fk; vdf; fhl;Lf. 

A quadrilateral has vertices at 𝐴(−4, −2), 𝐵(5, −1), 𝐶(6, 5) and 𝐷(−7, 6). Show that the mid-points of 

its sides form a parallelogram.     

38. ,U fg;gy;fs; fyq;fiu tpsf;fj;jpd; ,U gf;fq;fspYk; flypy; gazk; nra;fpd;wd. ,U fg;gy;fspypUe;J 
fyq;fiu tpsf;fj;jpd; cr;rpapd; Vw;wf;Nfhzq;fs; KiwNa 30° kw;Wk; 45° MFk;. fyq;fiu 

tpsf;fj;jpd; cauk; 200 kP vdpy;> ,U fg;gy;fSf;F ,ilNa cs;s njhiyitf; fhz;f. (√3 = 1.732) 

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the top of the 

lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse is  200 𝑚 high, find 

the distance between the two ships. (√3 = 1.732) 

39. xU Nfhsj;jpd; Muk; 25% mjpfupf;Fk;NghJ> mjpfkhFk; Gwg;gug;gpd; rjtPjk; fhz;f. 
The radius of a sphere increases by  25% . Find the percentage increase in its surface area. 

40. 6 nr.kP Muk; kw;Wk; 15 nr.kP cauk; nfhz;l Xu; cUis tbtg; ghj;jpuk; KOtJkhf gdpf;$o; (ice-cream) 
cs;sJ. me;jg; gdpf;$ohdJ> $k;G kw;Wk; miuf;Nfhsk; ,ize;j tbtj;jpy; epug;gg;gLfpwJ. $k;gpd; 
cauk; 9 nr.kP kw;Wk; Muk; 3 nr.kP vdpy;> ghj;jpuj;jpy; cs;s gdpf;$io epug;g vj;jidf; $k;Gfs; Njit? 

A right circular cylindrical container of base radius 6 𝑐𝑚 and height 15 𝑐𝑚 is full of ice cream. The ice 

cream is to be filled in cones of height 9 𝑐𝑚 and base radius 3 𝑐𝑚, having a hemispherical cap. Find the 
number of cones needed to empty the container. 

41. 50 khztu;fs; 100 kPl;lu; J}uj;ij flf;f vLj;Jf;nfhz;l fhy msTfs; fPNo nfhLf;fg;gl;Ls;sd.  
mtw;wpd; jpl;l tpyf;fk; fhz;f.  
vLj;Jf;nfhz;l Neuk; (tpdhbapy;)  8.5 -9.5 9.5 -10.5 10.5 -11.5 11.5 -12.5 12.5 -13.5 

khztu;fspd; vz;zpf;if  6 8 17 10 9 

The time taken by 50 students to complete a 100 meter race are given below. Find its standard deviation.  

Time taken (sec) 8.5 -9.5 9.5 -10.5 10.5 -11.5 11.5 -12.5 12.5 -13.5 

Number of students 6 8 17 10 9 

42. 
1

𝑥+1
+

2

𝑥+2
=

4

𝑥+4
 , 𝑥 + 1 ≠ 0, 𝑥 + 2 ≠ 0 kw;Wk; 𝑥 + 4 ≠ 0-I ,Ugbr; rkd;ghl;bd; #j;jpuj;ijg; 

gad;gLj;jpj; jPu;f;f. 

Solve the equation 
1

𝑥+1
+

2

𝑥+2
=

4

𝑥+4
 where 𝑥 + 1 ≠ 0, 𝑥 + 2 ≠ 0 and 𝑥 + 4 ≠ 0 using quadratic formula.   

                                                              gFjp – IV / PART – IV                                                  𝟐 × 𝟖 = 𝟏𝟔    

midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. / Answer all the questions.  
43. (m) 6 nr.kP tpl;lKs;s tl;lk; tiue;J>  tl;lj;jpd; ikaj;jpypUe;J 8 nr.kP njhiytpy; P vd;w  

Gs;spiaf; Fwpf;fTk;. mg;Gs;spapypUe;J 𝑃𝐴 kw;Wk; 𝑃𝐵 vd;w ,U njhLNfhLfs; tiue;J 
mtw;wpd; ePsq;fisf; mstpLf.                                                                                                                     (my;yJ)  

       (M)𝑄𝑅 = 6.5 nr.kP> ∠𝑃 = 60° kw;Wk; cr;rp 𝑃-apypUe;J 𝑄𝑅-f;F tiuag;gl;l Fj;Jf;Nfhl;bd; ePsk; 
4.5 nr.kP cila ∆𝑃𝑄𝑅 tiuf. 

        (a) Draw a circle of diameter 6 𝑐𝑚 from a point P, which is 8 𝑐𝑚 away from its centre. Draw the two   
 tangents PA and PB to the circle and measure their lengths.           (OR)                                                        

        (b) Construct a ∆𝑃𝑄𝑅 such that 𝑄𝑅 = 6.5 𝑐𝑚, ∠𝑃 = 60° & the altitude from 𝑃 to 𝑄𝑅 is of length 4.5 𝑐𝑚.     

44.(m) xU NgUe;J kzpf;F 50 fp.kP/kzp vd;w rPuhd Ntfj;jpy; gazpf;fpwJ. ,j;njhlu;Gf;fhd J}uk;-Neuk; 
tiuglk; tiue;J> gpd;tUtdtw;iwf; fhz;f.(i) tpfpjrk khwpypiaf; fhz;f. (ii) 90  epkplq;fspy; 
gazpf;Fk; J}uk; vt;tsT? (iii) 300 fp.kP J}uj;ij gazpf;f vt;tsT Neuk; MFk;?     (my;yJ) 

   (M) 𝑥2 − 4𝑥 + 4 = 0 vd;w ,Ugbr; rkd;ghl;bd; tiuglk; tiue;J jPu;tpd; jd;ikiaf; $Wf. 
    (a) A bus is travelling at a uniform speed of 50 km/hr. Draw the distance-time graph and hence find       

(i) the constant of variation                            (ii) how far will it travel in 90 minutes?  

  (iii) the time required to cover a distance of 300 km from the graph.                                  (OR) 
        (b) Graph the following quadratic equation and state their nature of solution 𝑥2 − 4𝑥 + 4 = 0.    


